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So no lookup tabla In place of J'd we use Flip
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Approximate policy evaluation

wry TD type algorithms
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Section 6.3
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Aim Find the best approximation to J in the
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Can solve if ITT is a contraction

I we will show it is the case

TD with linear function approximation
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Neve ITT is the composition of IT with T
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As the trajectory lagth k in Cio k goes to

infinity do the estimates di pig converge

As k 74 I Ei w.pl version of
SUN

Pig pig up I

result forCic C.hII
Hence Fat F w.p I as k is

Rude Ccc and de le be written alternatively as

I I acid drift
to

da I II ICI Ollie
t

I I É Offit glie ite

Anotherre mat

LSTD Solution GI dk

can we write re Cide NO



Trivial example Cio i ik

Suppose Io i ik i somestele

C I E Oct OCitt
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Onto linear function approximation case
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Remarki
In the above we answered sapling from the

stationary distribution Under this it is
he

straightforward to invoke Sto Tkr algo general
convergence result w der contraction case

TD o with linear function approximation
would converge even if sampling is not

from the stationary distribution

Cio i

initiIstate
picked why some distribution M

let the Markov chain have f p.m P
K

Then after k steps the distribution µ P
arsunis

µpk es as k i inc.EEriImcI
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Io I in ima
4

after a Large N of iterations the
Markov chain is in steady state

sideie the distribution in E



it can be shown that H TD with LFA

would converge to the same fixed point
i.e 2 satisfying Cat d ODETTE 5

Ref 5 A Tsitsiklix B V Roy
Analysisof TD with LFA's
IEEE trans auto Control 1997

Can extend ID o to TD t with LFA

Read it from NDP book or

DPOCV.CI Chapter G


